QHECKEUP TES? I Number : Schofield & Sims : Mental Arithmetic 2 Answers CHECK-UP TEST | Number
Write in words the number shown 2 b : : Tables 2, 2, 4,5, 6,7, 8,9
on each abacus. Take 1 from 900  #99 2000 1999 Multiplication Division
hH T Ty Add 1 to 499 500 3999 4000 12x 3= 36 (3x 4)+3= 15 4+2= 7 36+6= 6
| Take 10 from 6000 . 5980 5005 4985 4x 8= 32 Ox8+7= . 24 = 4 = B 49+7= 7
s | & Add 10 to 894 904 7095 7G5 Ox 3= 0 (8x 4)+3= 35 40 +5= B8 66 —6 = 1
three thousand  two thousand Take 100 from 1001 . 201 4060 3360 9x 6= 54 {(5x 7)+6= 4 36 3= 12 81+9= __ .58
émd____?@?_@ri:yfkhm_@ and fifty Add 100 to 7049 7149 6390 7090 1M1 x 5= 85 (Ix 6)+5= 11 60+5= , 12 56 +8= 7
R ' ; 7x 6= A2 (6x & +3= 27 18+3= & 77+7= 1
Alf’\’“*ié”d'g”é N | S 0x 5= 0 (1Mx8+5= 93 0+2= 0 42:7= 6
wo thousan : one thousan -~ our thousan ; 7x 8= 5 (5x 6)+4= 34 4+4= ... 1 32+8= 4
nine hundred 2900 and fifty 1058 and eight --A008 ¢ 3x 7= 21 (8x 8+7= 71 44+ 4 = 1 72+6= 12
"Write the value of the digit underlined in | 9x 5= 45 (@x 6)+4= 1 27+ 3= 8 90+9= 10
each number. 862 = .- tens 2 units ... 86 6x12= 72 (@Bx 5 +2= _42 8+2= 4 0+8= .0
8010 B 1 3284 4 2307 = = tens 7 units 230 7x 9= .83 (Ix 7)+5= 54 99+ 9= T 108+%= W
2966 Lso6 . 8304 306 470 = = hundreds 7 tens 4 5x 5= 25 (Ix 8 +4= 12 35+5= 7 63+7= 9
4075 400G 1090 - 6850 =  hundreds 5 tens 68 2x 7= .8 (@2x9+6= 24 0+3= 0 56+7= .
- 2124 100 5007 5000 4605 =+ hundreds 5 units 46 6x 6= 38 (Ix4)+3= 31 36 +4= . 9 72+9= R
| ‘ — . . . , r' 9x 4= 36 (12x 7)+6= 90 2442 = 12 35+7= 5
;g((})(()) +500+70+5= ’Eiﬁj How many times larger is How many times smaller is 12 x 9= 108 (8x 9)+7= 78 28 = 4 = 7 54 -6 = 3
4000 + 80 = 4080 200 than 2 100 70 than 700 A 11 x 4= 44  {(Ax 4)+3= 19 16+ 4= 4 96 + 8 = A2
9 + 6000 = ...5003 600 than 60 1 59than 580 e 8O 8Sx 3= 24 (9Ox1)+8= 107 33:3= 11 36+9= 4
3000 than 307 100 42 than 42007 B i1 :
Addition Subtraction
12 19+ 4= 23 16-9= 7 22-4= .8 a . é a. é
13 5+17= 22 M-7= 4 24-7= 17 2 5 2
2+9= 1 16+ 6= 22 14-8= LB 2=6= T a t a 1
8+8= 16 9+18= 27 13-7= & 26-9= 17 T N
6+6= 12 19+ 7= 2% 17-9= 8§ 24-8= 1 b_ > M
3+9= 12 5+18= _ 23 1-8= 3 35-9= 2% ) \Write in digits.
8+7= .15 294+ 6= 35 12-9= 3 3-5= 26 one and : two and ; three and 5 four and .
94+ 9= 48 8 +24= 132 13-6 = 7 37-8= R a half B three-quarters P three-fifths 33 two-thirds 45
8+4= 12 38+ 3= 4] 15-8= 7 43-5= ...38 0 1,1 2 4 3 (R A 3 Write < or >
9+5= 14 7+37= 44 13-9= 4 44-9=  * 35 2 oetT S T E .
7+7= 14 49+ 2= 51 12-6= & 52-3= 49 5+5= 58— 8= § 66 5 1.5 {:
649 = 15 74+44= 5] 15-9= 6 53-7= 46 e I T e . e BT .
9+8= 17 58+ 8= 66 14-7= 7 62-9= .53 3 4 7 w0 7 PR PR
7+4= 11 5+59= 64 13-8= 5 63-4= 59 wriT - 0T S L =
3+8= e il 654 6 = il 12-7= 5 71-8= 63
é * Z = 12 6+e8= 74 t4-o= 9 72-6= 60 3 of18p 9p  4of200 5l gofd40m  _ 8m ¢ of 30p 5
o o same m| teec s moes m idag S ol __mslidiotaom . 3m fofdw 2%
6+5= .31 83+ 9= g2 12-8= 4 9t-4= 87" T" of 80cm . - nooe of 32cm __4am . 7o of £1 ~.10p 3 of 90kg 30kg
9+7= 16 7+8 = 93 18-9= 9 98-9= 89 sof27p - p . gof32m . 28m g of £1 .90p  5of90kg | 60kg
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